Dears Colleagues,

I am a beginner on using the SUMO software. I have to model a roundabout in a project situation. With three variants of roundabout rearrangement.

The first variant consists in adding four links in a right-hand turn to the four corners of the gyratory.

I work in netedit.

I am asking you to help me and to tell me how to create a node in a current section of the OSM so that we can make the junction between the end of the new link turning right and the current section of the OSM network so that the traffic can take the new link turning right.
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Import done: - -
200 nodes loaded.
33 types loaded.

381 edges loaded,
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